SOAL SELEKSI TAHAP I

A. Multiple Choice Questions
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Which diagram correctly shows the life cycle of some insects?

Base your answers to questions 2 and 3 on the bar graph below, which

shows the average life span of four animals.
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02. Which statement is supported by the data in the bar graph?

A. The life span of a dog is longer than the life span of a squirrel.

B. The life span of a lion is longer than the life span of a horse.

C. The life span of a squirrel is longer than the life span of a lion.

D. The life span of a horse is longer than the life span of a dog.

03. The life span of an animal is defined as the

A. changes that occur as the animal develops

B. length of time from the animal’s birth to its death

C. process by which the animal grows in size

D. transfer of specific traits to the animal’s offspring
04. The diagram below shows a food web.
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Which three organisms in the food web are competing for the same food resource?

A. carrot, rabbit, and fox 

C. fox, owl, and rabbit
B. grain, bird, and owl 

D. bird, mouse, and grasshopper
05. A turtle eating worms is an example of

A. breathing


C. eliminating waste
B. reproducing


D. taking in nutrients
06. The main function of a duck’s webbed feet is to help the duck

A. make noise


C. swim in water
B. protect itself


D. find a mate
07. One way animals usually respond to a sudden drop in temperature is by

A. sweating


C. blinking
B. shivering


D. salivating

08. Which vitamin stimulates uptake of calcium from the intestine and promote healthy development of bones and teeth?


A.
retinol



C. ascorbic acid  


B.  thiamine
D. calciferol
   


09. In a typical food chain, the green plants are referred to as ……


A.  Carbon dioxide is removed
C.  Oxygen is added



B.  Glucose is added

D.  Urea is removed



         
010. Which dietary imbalance does not lead to the health problem stated?

	
	dietary imbalance
	health problem

	A.
	lack of fresh fruit
	constipation and scurvy

	B.
	lack of milk and cod liver oil 
	rickets and diarrhoea

	C.
	too many sweets an cakes
	anaemia and  rickets

	D.
	too much full-fat cheese and fried food
	chronic heart disease


011. What shows a result of deforestation and the effect it has on the environment?

	
	result
	effect

	A.
	fewer flowering plants
	reduced CO2 in air

	B.
	fewer trees
	increased humidity of air

	C.
	more ground cover
	wind removes soil

	D.
	more water drains away
	soil washed away


012.  Which stages of the life cycle of the malarial vector live in still water?

	
	larva
	pupa
	adult

	A.
	(
	(
	(

	B.
	(
	(
	X

	C.
	(
	X
	X

	D.
	X
	X
	X


013. The diagram shows a cell from the leaf of plant. Which part traps light energy?
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014. The image in a plane mirror is ….
A. upright, real with a magnification of 2

B. upright, virtual with a magnification of 1

C. inverted, real with a magnification of ½

D. inverted, virtual with amganification of 1

015. Which diagram shows the ray of light refracted correctly?
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Which diagram shows the same cells in cross-section?

28. A red blood cell and a plant root hair cell both have

C alarge surface area.
D anucleus.

A acellulose cell wall.
B haemoglobin.

29. Which cell changes shape to carry out its normal function?

A Muscle cell C Root hair cell
B Neurone D Xylem vessel

30. The diagram shows a cell from the leaf of a plant.

‘Which part traps light energy?

0 =—a
0 B
0 iy
) \D

31

v »A Cortex B Lateral roots C Root hairs

D Root cap

(N95 12

©g B
(J96 1 2)
W
(N96 1 2)
&
(N97 1 1
(

Which part of an actively growing root takes up the most water from the soil? (N97 1 2

(







A.


B.


C.

[image: image13.png]







      

D

016. An illuminated object is placed at a distance of 20 cm from a converging lens of      focal length 15 cm. The image obtained on a screen is

A. upright and magnified

B. upright and the same size

C. inverted and magnified

D. inverted and diminished

017.  What is one way to change water from a liquid to a solid?

A.  decrease the temperature

C.  decrease the mass

B.  increase the temperature

D.  increase the mass

018. The diagram below shows a river flowing through a valley.
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Which process caused the river valley to form?

A.  evaporation
C.  deposition

B.  erosion

D. condensation

019. [image: image15.png]


The diagram below shows a plastic cup floating in a container of water.

If some marbles are placed in the cup,the water level will

A. decrease

B. increase

C. remain the same

020. The diagram below shows three plants hanging over a table. A student watered 

       the plants and observed water on the top of the table. The next day, the student 

       noticed that there was no water on the table.
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What process had occurred?

A condensation

B erosion

C evaporation

D precipitation 
021. Two objects of the same mass are going to be placed the same distance from the support of a balance beam. Which diagram shows where them support should be placed under the beam so the objects will balance?
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022. When a water wave goes from deep to shallow water, the changes (if any) in its 

    speed, wavelength and frequency are



Speed


Wavelenhgth

Frequency


A.
greater


greater


the same


B.
greater


less


less


D.
less


the same

less


E.
less


less


the same

023. Using the circuit in Figure below, which of the following statement is correct?

A. When the circuit in Figure S1 and S2 are closed, lamps A and B are lighted

B. When the circuit in Figure S1 and S2 are open, lamps A and B are lighted

C. With S1 open and S2 closed, A is lit and B is not lighted.

D. With S2 open and S1 closed, A and B are lighted.

024. Study the circuit in Figure below. The switch S is open (There is a break in the circuit at this point). In which circuit would lamps Q and R light but not lamp P?
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025. Which one of the following statements is not true?

A. Temperature tells us how hot an object is

B. Temperature is measured by a thermometer which  uses some property of matter (e.g. the expansion of mercury) that chages continously with temperature.

C. Heat flows naturally from an object at a lower temperature to one at higher temperature.

D. The molecules of an object move faster when its temperature rises

026. Which diagram shows the correct path of the ray through the prism?
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027. Which of the following statements is /are true?

1. In cold weather the wooden handle of saucepan feels warmer than metal pan because wood is better conductor of heat.

2. Convection occurs when there is a change of density in parts of a fluid

3. Conduction and convection cannot occur in a vacuum

A. 1, 2, 3


B. 1, 2


C. 2,3


D. 1

028. On the graph below, the curves represent the numbers of two different organisms, R and S, in the same food chain? 

 

What do R and S represent

	
	R
	S

	A.
	Producer
	Predator

	B.
	Primary consumer
	Producer

	C.
	Secondary consumer
	Producer

	D.
	Primary consumer
	Secondary consumer


029. A group of similar-looking organisms that can interbreed and produce fertile offspring is called  ……………..




A.  a living system


C.  an adaptation


 
B.  a species



D.  organization


030. Which statement about enzymes is correct?

A.
They are all proteins.


B.
They are changed by the chemical reactions they control.


C.
They are destroyed by temperatures below 10(C.

D.   They are found only in the alimentary canal.     
Short Answer
Base your answers to questions 01 through 02 on the diagram below and on your knowledge of science. The diagram shows the Sun, Earth, and the Moon as seen from a point in space far above Earth’s North Pole. The shaded areas represent darkness. Point X represents a location on Earth’s surface.

01. Identify one force that keeps Earth in orbit around the Sun. ______________

02. How long does it take for Earth to make one revolution around the Sun? ………………

03. Germination happens between which two stages? 

_______________________________ and ________________________

04. In which stage are seeds produced? 

_______________________________

05. List two things green plants need to grow and thrive. 

(1) ___________________________

(2) ___________________________
Use words from the list below to complete the following sentences  in questions number 06, 07, and 08.

boils
freezes

melts
electrons
molecules
protons

lose
need

06. At 0o C, the ice_______________ to form water.

07. The ____________________ in the ice are held firmly in the crystal structure.

08. These particles _________________ energy so that they are able to leave the crystal structure and move about as water.

09. Jenis batuan yang digunakan untuk membuat bangunan adalah_______________

010. Jenis cermin yang digunakan pada kaca spion mobil/motor termasuk cermin  

     ______________

011. Pada dynamo sepeda terjadi perubahan energi gerak menjadi energi ____________

012. Kutub magnet yang tidak senama jika didekatkan akan ______________________

013. Rangkaian listrik yang menghantarkan arus listrik lebih dari satu cabang disebut 

    ___________________

Use words from the list below to complete the following sentences  in questions number


Conduction, copper, convection, free, vibration, radiation

014.  __________________ is the process by which heat is transmitted through a medium from one particle to another.

015. _______________ is the process by which a body transmits electromagnet waves.
016. In metal heat is conducted by _______________ electrons and the vibration of atoms and molecules.

017. The sensation of taste occurs when chemicals dissolved in saliva make contact with sensory receptors on your tongue called …………………..

018. A flower that has four organs  calyx, corolla, stamen, and pistil  is called a ………………… ………………

019.  While feeding, butterflies and bees carry pollen from flower to flower, causing ………………. ……………….

020. This enzyme, called ……………………., breaks down starch into smaller sugar molecules called disaccharides.

021. When the population of the species begins declining rapidly, the species is said to be a ………. ……………

022. Organism that depend on autotrophs as their sources of nutrients and energy are ……………

023. A symbiotic relationship in which one organism derives benefit at expense of the other is called ........................
024. The tissue of body human being network which useful in maintaining body temperature remain to 37oC is ……………
025. When pigeon bird in flight, transfer of oxygen gas with carbon dioxide happened in …….
Essay
Base your answers to questions 1 and 2 on the diagrams below, which show a system in a human and a system in a plant.

01. Select one structure labeled in the human system above and explain how it contributes to the way the human system functions.

Human Structure: ________________________________________________________________________
Explanation: ________________________________________________________________________
________________________________________________________________________________________________________________________________________________
02. Select one structure labeled in the plant system above and explain how it contributes to the way the organism functions. [1]

Plant Structure: ________________________________________________________________________

Explanation: ________________________________________________________________________
________________________________________________________________________________________________________________________________________________

03. This Figure shows a ray of the light PQ striking

a mirror AB. The mirror AB and the mirror CD are at right angles to each other. QN is a normal to the mirror AB

a. What is the value of the angle of incidence of the ray PQ on the mirror AB?
  b. What are the values of the angle of reflection at AB, the angle of incidence at 

      CD and the angle of reflection at CD?

04. In a circuit, two resistors R1 and R2 are connected in series, and the resistor R3 is connected in parallel with them (R1 and R2). Draw the circuit.

05. Perhatikan gambar gelombang di bawah ini. Jika panjang garis E adalah 6 cm dan panjang garis D adalah 4 cm. Tentukan panjang gelombang dan amplitudo gelombangnya.
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